Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in **Meghalaya**, as per following details:

| SI. No | Name of location | Revenue District 3 | Type of RO 4 | Estimated monthly Sales Potential # | Category 6 | Type of Site* 7 | (in M.)/A | m Dimen rea of the Sq. M.). * 8 | e site | Finance to be arranged by the applicant 9a 9b | | Mode of Selectio n | Fixed Fee / Minimum Bid amount (Rs. In Lakhs) | Security Deposit (Rs. In Lakhs) |
|--------|--|---------------------------------|--------------------|--|----------------------|-----------------------|---------------|--|--------|--|----------------|----------------------------|--|--|
| - 1 | 2 | 3 | 4 | 5 | | CC / DC / | | 0 | | 9a | 90 | 10 | 11 | 12 |
| | | | | | SC | CFS | ļ | | | | | | | |
| | | | | | SC CC-1 | | $\frac{1}{2}$ | | | | | | | |
| | | | | | SC CC-2 SC PH | | 1 | | | | Estimat | | | |
| | | | | | ST | | 1 | | | ted | ed fund | | | |
| | | | | | ST CC-1 ST CC-2 | | ł | | | workin g | require | | | |
| | | | Dogular / | | ST CC-2 | | ł | | | capital | d for | Draw of | | |
| | | | Regular / Rural | MS+HSD in Kls | OBC | | Frontage | Depth | Area | requir | develo | Lots / | | |
| | | | nurui | 1415 | OBC CC-1 OBC CC-2 | | ł | | | ement | pment | Bidding | | |
| | | | | | OBC CC-2 | | 1 | | | for operat | of infrastr | | | |
| | | | | | OPEN | |] | | | ion of | ucture | | | |
| | | | | | OPEN CC- | | | | | RO | at RO | | | |
| | | | | | 1 OPEN CC- | | ł | | | | | | | |
| | | | | | 2 | | 1 | | | | | | | |
| | Wahlong- On Ichamati- | EAST KHASI | | | OPEN PH | | | | | | | Draw of | | |
| 1 | Bholaganj road | HILLS | RURAL | 65 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 2 | Chibinang | WEST GARO HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 3 | Hollaidanga to upper khameri on AMPT (Agia- Medhipara- Phulbari- Tura) Road | WEST GARO HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 4 | BORAPANI (ON BORAPANI - UPPER SHILLONG ROAD) | EAST KHASI HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 5 | Gasuapara | SOUTH GARO HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 6 | KHARKUTA | NORTH GARO HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 7 | Langkyrdem | EAST KHASI HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 8 | Abima | WEST GARO HILLS | RURAL | 60 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 9 | Mulum | EAST JAINTIA HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 10 | Ranikor | SOUTH WEST KHASI HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 11 | Shangpung Village | EAST JAINTIA HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 12 | Nongjri | EAST KHASI HILLS | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots | 0 | 2 |
| 13 | Raliang | EAST JAINTIA HILLS | RURAL | 60 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Draw of Lots | 5 | 4 |
| 14 | Rongram (within 2 KM from SBI Rongram) Tura within 2KM from 2 MLP | WEST GARO HILLS WEST GARO | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Draw of Lots Draw of | 0 | 2 |
| 15 | Battalion | HILLS WEST GARO | RURAL | 55 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 16 | Selsella | HILLS EAST KHASI | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 17 | CHERRAPUNJEE TOWN | HILLS EAST KHASI | RURAL | 60 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 18 | Traw | HILLS | RURAL | 60 | OPEN | DC | 30 | 25 | 750 | 12 | 30 | Lots Draw of | 5 | 4 |
| 19 | NEW TASKU | RI-BHOI EAST KHASI | RURAL REGULA | 46 | ST | CFS | 30 | 25 | 750 | 0 | 0 | Lots Draw of | 0 | 2 |
| 20 | MAWSYNRAM TOWN WITHIN 4KM FROM HDFC | HILLS | R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Lots | 0 | 3 |
| 21 | BANK KHLIEHRIAT (ON LHS TOWARDS SILCHAR) ON NH | EAST JAINTIA HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 22 | NONGPOH TOWN ON NH (LHS TOWARDS SHILLONG) | RI-BHOI | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 23 | Mendal on NH | WEST GARO HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 24 | KILING Tura (Within 300m from | RI-BHOI | REGULA R | 100 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 25 | GHADC office Junction towards District Maternity Hospital) IOOKSI (TONGKIAD) - ON LHS | WEST GARO HILLS | REGULA R | 180 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 26 | TOWARDS ASSAM BORDER ON SH | WEST JAINTIA HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 27 | Mawkriah on NH | EAST KHASI HILLS | REGULA R | 210 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 28 | Shillong (Between Main entrance of Hubert Memorial Secondary School towards Maw- Arling Junction) | | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 29 | Chengkali (Near Baptist Church)on NH | SOUTH GARO HILLS | REGULA R | 150 | OPEN | DC | 20 | 20 | 400 | 25 | 75 | Draw of Lots | 15 | 5 |

| | | | | | | | | | 1 | | 1 | | | |
|----|--|---------------------------|-------------|-----|------|-----|----|----|-----|----|----|-----------------|----|---|
| 30 | Laitlyngkot on NH | EAST KHASI HILLS | REGULA R | 170 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 31 | Within 3km from ISBT Shillong (On RHS towards Borapani) on NH | EAST KHASI HILLS | REGULA R | 180 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 32 | Mairang (Madan Banther on LHS towards Nongstoin) | WEST KHASI HILLS | REGULA R | 160 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 33 | NONGSHYRNGAN ON NH | EAST KHASI HILLS | REGULA R | 170 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 34 | LAD RYMBAI TOWN ON NH | EAST JAINTIA HILLS | REGULA R | 100 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 35 | Mynsngat- ON LHS TOWARDS ASSAM BORDER ON SH | WEST JAINTIA HILLS | REGULA R | 120 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 36 | Nongpoh on NH (within 4KM from IOC Pump M/s Assam Auto Agency on RHS towards Shillong) | RI-BHOI | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 37 | DIENGPASOH (WITHIN 3KM FROM POLICE OUTPOST)ON NH | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 38 | Mawlaidong (On LHS of NH between chainage 42 to 45) | WEST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 39 | Madanriting | EAST KHASI HILLS | REGULA R | 100 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 40 | Mawdiangdiang (Within 300 meters from NEIGHRIMS Police Station) | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 41 | Dubagiri on NH | SOUTH GARO HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 42 | Ummulong-Within 3Km from CHC center towards Jowai on LHS | WEST JAINTIA HILLS | REGULA R | 200 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 43 | Nartiang (WITHIN 3KM FROM NARTIANG POLICE STATION)on SH | WEST JAINTIA HILLS | REGULA R | 120 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 44 | Mawpat | EAST KHASI HILLS | REGULA R | 200 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 45 | Sonapur on RHS OF NH | EAST JAINTIA HILLS | | 315 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 46 | Nongtalang on NH | WEST JAINTIA HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 47 | Dalu (Dapri) on RHS of NH | WEST GARO HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 48 | Baghmara on RHS of NH | SOUTH GARO HILLS | REGULA | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 49 | From Byrnihat to Jorabat between KM stone no - 4 & 6 on LHS towards Jorabat. | RI-BHOI | REGULA R | 360 | OPEN | DC | 20 | 20 | 400 | 25 | 75 | Draw of Lots | 15 | 5 |
| 50 | Cherapunjee on SH within 3KM from Orange roots restaurant towards Shillong | EAST KHASI HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 51 | Garobadha (Within 2 Km from Police Station towards Tura n (LHS) | WEST GARO HILLS | REGULA R | 120 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 52 | lalong on RHS of NH | WEST JAINTIA HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 53 | Mawkyrwat (Within 2km from DC office on RHS towards Shillong) | SOUTH WEST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 54 | Mawlai Bypass (ON LHS within 1km from Mawlai Mawkynroh to Mawiong) | EAST KHASI HILLS | REGULA R | 180 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 55 | Rajabala on SH | WEST GARO HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 56 | Umsning Bypass- ON LHS TOWARDS SHILLONG | RI-BHOI | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 57 | Jowai -Amlarem within 7km from Jowai towards Dawki | WEST JAINTIA HILLS | REGULA R | 200 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 58 | Berubari on NH | NORTH GARO HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 59 | HATUGAON | WEST GARO HILLS | REGULA R | 100 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 60 | Mawthynkut- On Nongstoin- Tura Road | WEST KHASI HILLS | REGULA | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 61 | Urkoli on Nongstoin - Tura Road | WEST KHASI HILLS | REGULA | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 62 | Laitmynrieng on NH (LHS towards Dawki) | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 63 | FROM STATE BANK OF INDIA MAWLAI BRANCH TO FOREST COLONY | EAST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 64 | KHANAPARA ON NH - LHS TOWARDS GUWAHATI (BETWEEN HIGHWAY REFILL CENTER AND KHONGWIR SERVICE STATION' | RI-BHOI | REGULA R | 480 | OPEN | DC | 20 | 20 | 400 | 25 | 75 | Draw of Lots | 15 | 5 |
| 65 | Baghmara Town | SOUTH GARO HILLS | REGULA R | 120 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 66 | MAWNIANGLAH-7th Mile - Upper Shillong (WITHIN 3KM FROM ELEPHANTA FALLS JUNCTION) on NH | EAST KHASI HILLS | REGULA R | 240 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |

| | Mawryngkneng (Within 3km | l | | | | | | | | [| | | | <u> </u> |
|-----|---|------------------------------|------------------|-----|------|-----|----|----|-----|----|----|-------------------------|----|----------|
| 67 | from Junction to Shillong - on LHS towards Borapani) on NH | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 68 | Dekachang Bazar (Within 500 m Resubelpara Municipal Board) | NORTH GARO HILLS | REGULA R | 110 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 69 | Tikrikilla | WEST GARO HILLS | REGULA R | 100 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 70 | Nongstoin Bypass | WEST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 71 | Borapani on LHS towards Guwahati (Between Chainage 57 to 60km)on NH | RI-BHOI | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 72 | Shillong- From Supercare Hospital to Umpling | EAST KHASI HILLS | REGULA R | 180 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 73 | Cherapunjee on SH(BETWEEN KM STONE 25 TO TO 28 ON LHS) | EAST KHASI HILLS | REGULA R | 140 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 74 | Upper Shillong on NH | EAST KHASI HILLS | REGULA | 150 | OPEN | DC | 20 | 20 | 400 | 25 | 75 | Draw of | 15 | 5 |
| 75 | Between Chainage 169 to 185 | WEST JAINTIA | R REGULA | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Lots Draw of | 0 | 3 |
| 76 | on RHS of Dawki- Jowai Road Laitkor on NH within 3KM from HPC Petrol Pump on RHS | HILLS EAST KHASI HILLS | R REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Lots Draw of Lots | 0 | 3 |
| 77 | towards Shillong Mawngap Bypass on LHS towards Nongstoin(Between | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 78 | chainage 15 to 18km) Mawngap Town (Not on NH) | EAST KHASI HILLS | REGULA R | 210 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 79 | Medhipara on SH(Baun Gaon Prathamik Vidyalaya to Medhipara tinali) | WEST GARO HILLS | REGULA R | 100 | OPEN | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 5 |
| 80 | Mawlai Mawroh- Within 300meters from golf link | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 81 | junction BORAPANI (On LHS towards Guwahati within 3KM from road going to NE Police Academy) ON NH | RI-BHOI | REGULA R | 180 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 82 | Between Chainage 107 to 111 (On LHS of NH-6 between Khliehriat and Lumshnong) | EAST JAINTIA HILLS | REGULA R | 307 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 83 | Sohrynkham on NH | EAST KHASI HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 84 | Laban | EAST KHASI HILLS | REGULA R | 160 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 85 | URKALIAR- OPPOSITE MES OFFICE | EAST KHASI HILLS | REGULA R | 180 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 86 | Shillong Town | EAST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 87 | Resubelpara Town | NORTH GARO HILLS | REGULA | 140 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 88 | Jowai Bypass (FROM KM STONE 2 TO 5 ON LHS TOWARDS SILCHAR) | WEST JAINTIA HILLS | REGULA R | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 89 | Dakergaon on SH | WEST GARO HILLS | REGULA R | 100 | OPEN | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 5 |
| 90 | Bajengdoba Town | EAST GARO HILLS | REGULA | 120 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 91 | Pynursla on NH | EAST KHASI HILLS | REGULA | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 92 | Patharkhama on SH | RI-BHOI | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 93 | ON NEIGHRIMS road- Near Border Roads Organization office | EAST KHASI HILLS | REGULA R | 180 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 94 | Mawblei on NH | EAST KHASI HILLS | REGULA R | 200 | OPEN | DC | 20 | 20 | 400 | 25 | 75 | Draw of Lots | 15 | 5 |
| 95 | Mawngap on NH | EAST KHASI HILLS | REGULA | 210 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 96 | Rynjah-Shillong | EAST KHASI HILLS | REGULA | 200 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 97 | Mylliem ON NH (WITHIN 3KM FROM HPC RO) | EAST KHASI HILLS | REGULA R | 170 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 98 | Rani-Mairang road (Between Nongkhlaw Charali to Mawlyntriang- within 3km) | WEST KHASI HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 99 | Within 1 km from NEEPCO office towards NEIGHRIMS | EAST KHASI HILLS | REGULA R | 180 | OPEN | DC | 30 | 17 | 510 | 25 | 45 | Draw of Lots | 15 | 5 |
| 100 | Laitkor- Within 3km from HPC RO towards Jowai | EAST KHASI HILLS | REGULA R | 175 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 101 | Khliehriat town not on NH | EAST JAINTIA HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 102 | Williamnagar Town (within 1KM radius of DC office) | EAST GARO HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 103 | On Rani - Mairang road (Within 3 km from Mairang Town) | WEST KHASI HILLS | REGULA R | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | Draw of Lots | 0 | 3 |
| 104 | Within 4 km from Bandstand Police Station ON LHS | EAST KHASI HILLS | REGULA R | 200 | OPEN | DC | 20 | 20 | 400 | 25 | 75 | Draw of Lots | 15 | 5 |
| 105 | Within 3km from NEEPCO office towards Polo Stadium | EAST KHASI HILLS | REGULA R | 180 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |

| 106 | Sohiong Town | EAST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
|-----|---|-----------------------|-------------|-----|------|-----|----|----|-----|----|----|-----------------|----|---|
| 107 | Nongstoin Town | WEST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 108 | Ladsmit on Smit road within 1km from NH Junction | EAST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 109 | Samanda on SH | EAST GARO HILLS | REGULA R | 100 | OPEN | DC | 20 | 20 | 400 | 25 | 60 | Draw of Lots | 15 | 5 |
| 110 | MAWKHAR - Shillong | EAST KHASI HILLS | REGULA R | 200 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 111 | JOWAI TOWN WITHIN 2KM RADIUS FROM DC OFFICE | WEST JAINTIA HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 112 | Smit | EAST KHASI HILLS | REGULA R | 120 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |
| 113 | Mairang Town | WEST KHASI HILLS | REGULA R | 100 | ST | CFS | 30 | 17 | 510 | 0 | 0 | Draw of Lots | 0 | 3 |

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure **APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND** Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed

| Type of RO | Type of Site | Category | Application fee in Rs. | Type of RO | Type of Site | Category | Applicat ion fee in Rs. |
|----------------|--------------|----------|------------------------|------------|-----------------|----------|-------------------------------|
| Regular ROs | CFS | SC/ST | 3000 | | CFS | SC/ST | 2500 |
| | СС | OBC | 5000 | Rural ROs | СС | OBC | 4000 |
| | СС | Open | 10000 | Rulai ROS | CC | Open | 8000 |
| | DC | OBC | 5000 | | DC | OBC | 4000 |
| | DC | Open | 10000 | | DC | Open | 8000 |

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above. The tenure of the dealership shall be for an initial period of $\underline{15}$ years and renewable every $\underline{5}$ years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-Bharat Petroleum Corporation Limited Shillong Retail Territory Office, 1st Floor, Nexia Park, GMCH Road, Christian Basti,Guwahati. Kamrup Metropolitan District- 781005. Helpline - 7642926996